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��������
��
�
���� �ku�mu�tmtt���ul�mo

����������������������� ������� ���������� ��� �������� �������� ���������� �������� ��������� ����� � ¡�������¢£¤¥ ¦§̈©ª«
www.eleconomista.es
Fecha:  lunes, 31 de enero de 2022



��������		
��
�������

�����������
��
�����
������
�
���������	����
��������������� �!��"#��$����"#%�$�#�&!'�#�(��(���&�)#�$�*�%�("�&���!$+�#�!"$���(������%&!�$���!$��#$�%!"$�&��������,-
����	�
���
��
��
��������
�������
�
��	����
��.������
/�����,�	��	
0�	�1����
��
������2�����		
��
�������

��
����		3�4������
���	

�2��55���		
��
�������

��	��6
���
��
7/��
�������
�,���
��8
����	
�9������3�����:��;/����	

�9���:�:52��		
��
��
���
�
��������	�����
��
��6
	�
�<����,�	
����	�����
������������
������������
����	

�����,

����	���
�
��������=��0���
���1�9�������������������9����	�
������������
��
��6
	��
�����,
	������	�,��
��������,

��
�>��?#�/��
���@2����		
��
/�
�����
����A$(B�$C/��
����@:����		
��
��D
�

��
���0�E
����	

�:�:;����		
��
�9�����
��
���>�(!"&�$����F�!G�B�$C1�HHIA�����

	
�����E����@@���		
��
�1������		
��
/��
�����,������������
���������J�����
��
K����������
����

������������
��
������������
��=�
������	�������
���	����������
�
�?"$("���#?!&�("��4L���������<M�<
�K
	�
�1�L���������N�
��J��N	
0�	7/�
�
K
��

�����������

�OLN/��������

�0�E
�	��������P�$��$(�#P"���$!B&�Q�
�
�K
��

������
��J����
�����
��	�1�	

�K
��

��
��
���

��
��������

����������
���
�
��
����������
��	�
������
����
��R���8
/�	�������������0�-���������	
��
�P�$��$(�#S���#��T��&�U/�9�����,����������������������
�V�&�%!"$�("�<
�

�K
��

����������WE���,������	�
�
�
�����
�����
�����6
M	��XY
�X����������O
��6��������
���	��,��������K
��

��
�����

������=��

 Z

[\]�̂_̀ab]cde�fgh�ijklmlnh pqrstu�dv�nefnhdmedkn�wdjmmlwdikd�mjikenxykli�znen�d{zyvhnen�|yhln�}~�hkjh�hji�vjhiyd�jh�d�dmkjhhdmyiwneljhwdkdmknwjh�di�vnh�nmyinh�wd�}��v��jiwj�hj�denijwd��jeyd�nniklmlzn�yi��ykyejjhmyej�znen�vjh�}��v�d{����wd�jvwfni�pnm�hmnf�ln�wd�jzlil�ihj�ed�vnhmelzkjfjidwnh��}��in�lhvn�nvdfnin�yhmn�mnfnedejhu�jhkdvdejh��mjmlidejh�di�hzn�n��}

�P�A�����F�A©ª§«³�·�̧¹́­®º¶

www.eleconomista.es
Fecha:  lunes, 31 de enero de 2022 


